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	1. Задание B7 (№ 316353)



	Найдите [image: 36 \cos 2 \alpha], если [image: \cos \alpha = 0,8].



	2. Задание B7 (№ 316355)



	Найдите [image: -25 \cos 2 \alpha], если [image: \cos \alpha = -0,8].



	3. Задание B7 (№ 316357)



	Найдите [image: -44 \cos 2 \alpha], если [image: \cos \alpha = -0,5].



	4. Задание B7 (№ 316359)



	Найдите [image: 33 \cos 2 \alpha], если [image: \cos \alpha = 0,3].



	5. Задание B7 (№ 316361)



	Найдите [image: 6 \cos 2 \alpha], если [image: \cos \alpha = 0,8].



	6. Задание B7 (№ 316363)



	Найдите [image: -14 \cos 2 \alpha], если [image: \cos \alpha = -0,1].



	7. Задание B7 (№ 316365)



	Найдите [image: 7 \cos 2 \alpha], если [image: \cos \alpha = 0,8].



	8. Задание B7 (№ 316367)



	Найдите [image: 45 \cos 2 \alpha], если [image: \cos \alpha = -0,9].



	9. Задание B7 (№ 316369)



	Найдите [image: -3 \cos 2 \alpha], если [image: \cos \alpha = 0,6].



	10. Задание B7 (№ 316371)



	Найдите [image: 2 \cos 2 \alpha], если [image: \cos \alpha = 0,7].



	11. Задание B7 (№ 316373)



	Найдите [image: -43 \cos 2 \alpha], если [image: \cos \alpha = 1].



	12. Задание B7 (№ 316375)



	Найдите [image: 25 \cos 2 \alpha], если [image: \cos \alpha = 0,7].



	13. Задание B7 (№ 316377)



	Найдите [image: -2 \cos 2 \alpha], если [image: \cos \alpha = 0,1].



	14. Задание B7 (№ 316379)



	Найдите [image: 34 \cos 2 \alpha], если [image: \cos \alpha = -0,1].



	15. Задание B7 (№ 316381)



	Найдите [image: -20 \cos 2 \alpha], если [image: \cos \alpha = 0,2].



	16. Задание B7 (№ 316383)



	Найдите [image: -43 \cos 2 \alpha], если [image: \cos \alpha = 0,5].



	17. Задание B7 (№ 316385)



	Найдите [image: 32 \cos 2 \alpha], если [image: \cos \alpha = -0,5].



	18. Задание B7 (№ 316387)



	Найдите [image: 8 \cos 2 \alpha], если [image: \cos \alpha = -1].



	19. Задание B7 (№ 316389)



	Найдите [image: -46 \cos 2 \alpha], если [image: \cos \alpha = 0,1].



	20. Задание B7 (№ 316391)



	Найдите [image: -24 \cos 2 \alpha], если [image: \cos \alpha = -0,5].



	21. Задание B7 (№ 316393)



	Найдите [image: -28 \cos 2 \alpha], если [image: \cos \alpha = 1].



	22. Задание B7 (№ 316395)



	Найдите [image: -36 \cos 2 \alpha], если [image: \cos \alpha = -1].



	23. Задание B7 (№ 316397)



	Найдите [image: 11 \cos 2 \alpha], если [image: \cos \alpha = 0,6].



	24. Задание B7 (№ 316399)



	Найдите [image: -7 \cos 2 \alpha], если [image: \cos \alpha = 1].



	25. Задание B7 (№ 316401)



	Найдите [image: 35 \cos 2 \alpha], если [image: \cos \alpha = -0,2].



	26. Задание B7 (№ 316403)



	Найдите [image: 28 \cos 2 \alpha], если [image: \cos \alpha = -1].



	27. Задание B7 (№ 316405)



	Найдите [image: 13 \cos 2 \alpha], если [image: \cos \alpha = -0,5].



	28. Задание B7 (№ 316407)



	Найдите [image: 21 \cos 2 \alpha], если [image: \cos \alpha = 0,3].



	29. Задание B7 (№ 316409)



	Найдите [image: -43 \cos 2 \alpha], если [image: \cos \alpha = -0,7].



	30. Задание B7 (№ 316411)



	Найдите [image: -31 \cos 2 \alpha], если [image: \cos \alpha = -0,2].
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